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Esercizio 1

1. Si ha [
In−1 0
vT 1

] [
In−1 0
−vT 1

]
=

[
In−1 0

vT − vT 1

]
= In.

2. Si ottiene

G =

[
In−1 0
−vT 1

] [
On−1 −v
−0T 0

]
=

[
On−1 −v
−0T vTv

]
da cui ρ(G) = vTv essendo G triangolare superiore.

3. La condizione ‖ v ‖2< 1 non implica ‖ v ‖1< 1. Si consideri ad esempio v = [
√
2/2; 1/2].

4. function[]=gs_120615(tol, x0,v, b)

n=length(b);

err=1;

it=0;

x=zeros(n,1);

while(err>tol)

for k=1:n-1

x(k)=-v(k)*x0(n)+b(k);

end

s=-v’*x(1:n-1);

x(n)=s+b(n);

err=norm(x-x0,2)

x0=x;

it=it+1;

end

disp(’numero di iterazioni’)

it

5.

n it

128 7
256 6

1


